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SA — Special Schools — Maths — 30-01-2019 (S2)

1. The branch of linguistics that studies the sounds of human speech is

1.
2.
3.

Paleography
Semiotics
Phonology

Phonetics
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2. EDUSAT is

1.
2.
@
4.

Educational news channel for children
Science education satellite channel
The first Indian satellite for serving the educational sector

An online satellite channel for crash course to teachers

EDUSAT &38&

é

DYO®H JTHo0HE T IS

3)&;266"@ Qg BRI oS

D Bo@oPOoDd WHOS BOBAT ToE) S SDHS
73S

GrFcned ulBS (E°RE°E) 85rlR) (i TS


wintech
Oval

wintech
Oval

wintech
Oval

wintech
Oval


3. The report that was entitled on ‘Education and National
Development’ is
@ Kothari Commission’s report
2. Mudaliar Commission’s report
3. Hunter Commission’s report
4, Woods Dispatch
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4. The 4™ India International Science Festival (11SF) 2018 was held at

1. Hyderabad
2. New Delhi

@ Lucknow
4. Nagpur
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5. The South Asian University (SAU) is situated in the city of

1.
2.
3.

Kathmandu
Colombo
Dhaka
New Delhi

PE DNADHS cHrdHBYB (SAU) &8 SK80&® S0k

oy

1.
®
3.
4.

aPéoéoafg
&Peod®
Gose
S56d

The author of the book “Imaginary Homelands” is

Arundhati Roy
Salman Rushdie
Khushwanth Singh
Chetan Bhagat
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7. The test used to detect signs of nerve injury is

Soro masren $880ihe® ad H8%

(L) nNev
2 LFT
3. HbAlc
4 ABO
8. ‘Sampoorna Kranti’ Express train runs in between

1.
2.
®
4.

Visakhapatnam and Secunderabad
Trivendram and New Delhi
Rajendranagar (Patna) and New Delhi

Hazarath Nizamuddin and Pune
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9. Hypersomnia means

Fear of running water
Excessive sleepiness
Fear of heights

Fear of blood

1.

3.

4.
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10.  This trophy is related to the game of “Tennis

1. Ashes series cup

2. Divan cup

@ Davis cup

4. Colombo cup
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11.  The severe cyclone which occured at north coastal districts of
Andhra Pradesh during October 2018 is called

() it
2. Nargis
3. Thane
4. Hudhud
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12.  The following gases contribute to the “Green House Effect”

1. Ammonia and Ozone
@ Carbon dioxide and Methane

3. Carbon tetrafluoride and Nitrous oxide
4,

Carbon mono-oxide and Sulphur-di-oxide
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13.  Bharatanatyam is historically called as

@ Sadir Natyam

2. Odissi
3. Pallavi
4, Sustrit
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14.  The EI-Nino Phenomenon occurs in

1. Atlantic Ocean
2. Arctic Ocean
3.

Indian Ocean

Pacific Ocean
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15.  The host country of Asian Weight Lifting Championship for men
and women in 2019 is
1. China
2. Sri Lanka
@ India
4. Pakistan
20195 H058)508® Hhse, Qo e o dFoh AFdeH
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16.  Who is appointed as ICC Chairman for the second time

@ Shashank Manohar
2. Zaheer Abbas
3. Srinivasan
4. David Richardson
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17.  The first woman cricketer in the world to take 200 ODI wickets

Suzie Bates

1.

@ Jhulan Goswami
3. Mithali Raj

4.

Meg Lanning

—
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18.  The world’s first GST calculator was launched by this company

1. Armani

2. Fertina

3. Tissot
Casio India
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19.  The theme of the World AIDS Day 2018 is

Getting to zero

1.

2. Zero discrimination
@ Know your status
4.

Total eradication

2018 0SB (D00F JonG) BHoTWE) 6@@3&633
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20.  The Chief Guest of 2019 Republic Day Celebrations in India

1. Dilma Rousseff
@ Cyril Ramaphosa

3. Michelle Bachelet
4.

Emmanuel Macron
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21.  These books are the appendices of Brahmans.
@ Aranyaka

2 Nirnayaka

3. Gautrika

4

Mantaranika

SCIFOISISEION Lea%szwwé) J005PeD
@ @68@5‘5"@3

2. Qonadbseen ( Nirnayaka)

3 7 (@seen (Gautrika)
4

Sogordseen (Mantaranika)

22.  Which of these reports is a summary of different resolutions,
minutes and proceedings of the CABE since 1936?

1. Hartog Committee Report
2. Hunter Commission Report
3. Wood’s Despatch

Sargent Committee Report
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23.  Which of these is a new Regional Institute of Education (NE-RIE)
set up to cater to the educational needs of North-Eastern States i.e.,
Assam, Arunachal Pradesh, Meghalaya, Mizoram, Manipur,
Nagaland, Sikkim and Tripura?

1. RIE Itanagar
2. RIE Guwahati

@ RIE Shillong

4, RIE Gangtok
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24.  Among the following protective nutrients are
Fats and Carbohydrates
Vitamins and Minerals

Proteins and Fats

oL

Carbohydrates and Vitamins
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25.  Value of pleasure is also known as

1. Intrinsic value
2. Instrumental value
3.

Organic value

Recreational value

©d00 D) e Be° ErTe LEVIR.
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26.  The 5 countries with highest population in the world. (in the
descending order)

1. China, Pakistan, Mexico, India, Bangladesh

2. USA, Nigeria, Russia, Pakistan, China
@ China, India, USA, Indonesia, Brazil
4.

Nigeria, Bangladesh, Pakistan, Japan, Russia

b 0508 avegrie Baven BV (9H8%ren (E5ns®)
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27.  Inthe context of RTI Act 2005, what is the term used for a small
part of anything, intended as representative of the whole?

@
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- o @ g
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Sample
Material
specimen

record
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28.  One of the use of Globalisation is

@s 2@
X

There is a raise in expenditure on education of students
Multinational companies playing dominant role

Heavy competition among International Educational
Institutions

Higher Education became accessible to most of the people
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29.  As per NCF 2005, the Indian arts are living examples of the
country's,
1. Talent of India
2. Democratic values of India
3. Multilingualism of India
Secular fabric and cultural diversity of India

NCF-2005 ($5°80, grd80% E8en, B8 $ds emrsrdemen (living
examples)
1. 8838 (KH& (talent)
2. FOERE ($5erIE Denden
3. FEERE aFogragso (multilingualism)
eSSBS DS DES (secular fabric) 8050 (%voézw)@é
S50

30. In India, the common school system concept was proposed in this
report.

Secondary Education Commission report (1952-53)
Kothari Commission report (1964-66)

University Education Commission report (1948-49)
Basic Education report (1937)

SNCE

B8R IS ;e FBTO S (HAFHoSDES 653‘5@3.
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8. DEDTecdh JTgERS OB (1948-49)
4. BE Josdees oY (1937)


wintech
Oval

wintech
Oval

wintech
Oval

wintech
Oval


31.  When we revise what we study, we are strengthening

Rote memory

Immediate memory

1.
2.
@ Long term memory
4. Subconscious memory

3053300 BOHIL TP HIE)Bew S%0ed Toe &8 %@:o DOHEOICX.
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32.  If achild calls all the men as father and afterwards if he / she used it
only for his father — This relates to this principle of development

@ The principle of processing from general to specific responses

2. Development is cumulative
3. Development is an interactive process
4. Development takes place in an exact direction

BHDH Inke HNTHoBB TEY © HoHH0Y, 1ED © HTRY) EF
0|88 SrBD SIRPA0DS - b & o0 @8 KHooHoDLA.
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33.

Ramu’s father shows him two containers of water. He then pours the
water from one container into another taller, narrower container.
Ramu agrees that the tall container and the left out container with
water have the same amount of water. According to Piaget, this
concept is referred to

1. Animistic thinking
@ Conservation

3. Reversibility

4. Abstract thinking

T aPE) TR, 088 Botd B FiFen SrRoTer. TR
8% a8 PBSED B, PEHre QY™ &) OBDB0E F($5°08
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34.  Gopal is very skillfull in doing carpentry work, but when he has to
do electric work, his skill in carpentry does not help him. The
transfer of learning embedded in this is

@ Zero transfer

2. Positive transfer
3. Negative transfer
4. Bilateral transfer

A PSL B0 (S°8°)oéaée35) ZoHEoS® Hrod SDeagERD, 500
030(%5 H BaHSed SNI{PED, @S s*@aoéaé SDeago AV
SHBPRHESE. HASE a1 63) 9800 8o,

@ &l BP000%)
2. cﬁveﬁéé 2P0

3.

4.

ameaveﬁéé 2ROV
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35.  One of the following test is a verbal as well as a performance test

1. Bhatia’s Intelligence test battery
@ Wechsler Bellevue Intelligence scale
3. Army Beta test
4. General Mental Ability test

808 TS° wEd TRE DO Jap)BS HOZL BobSs
A LIATOVOL) @83; S°H
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36. A deficit in which of the following areas would most accurately be
called a phonological deficit?

1.
®
3.
4.

Comprehension of the meanings associated with words

Ability to recognize the difference between sound
combinations

Monitoring of complete sentences

Construction of complete sentences

53808 >AS® O R8I (Fdeo S¥¢n% (phonological deficit) $ASHMT
GBI

C%:)
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37. 56-70 db of degree of Hearing Loss can be categorized as

(B e v e

[ep}

G.w.w.H

Severe Hearing Loss
Mild Hearing Loss
Profound Hearing Loss

Moderately Severe Hearing Loss

56-70 db o &(fie (Ee SapR) SsDorr HHEBOSHLY).
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38.  Hearing loss occurs after acquisition of speech & language after the
age of onset is called as -
@ Acquired Hearing Loss
2. Congenital Hearing Loss
3. Mixed Hearing Loss
4,

Conductive Hearing Loss

Lo pesen0 $0grRoliso SIS Shars 3360)&,5 DL 66302001
NS0T ?
@ ‘©5E’ SraHBoR PR
2. Bo@JeS” grahdon e
3. ‘WEE &rchHdoh erd
4. BorBS Srahdoh &R

39.  Priyaisa 10 years old girl in 5" class. While teacher asked questions
she is answering with long pauses and repeating some letters &
words. What defect is in her ?

1. Tongue Tie
@ Stuttering
3. Cerebral palsy
4. Cleft lip & Palate

B0a% 55 SBHB NHH&Y) 10 Don HohdNe erdF. b &5
o0 EADHE HESnen KT H50Basw §°Q) @gBamen
S°§a&é§3°, SN DB Hde Hde %iﬁ{)@@ (HenBoes)
BEPTIHMED BHE0H. DL Ko SEHHn HWA?

1. ‘©ofh &
@ =

3. oS rdy

4. (e IO
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40. A6 years old child is pronouncing some words wrongly, i.e., ‘kaki
as ‘tati’, ‘lorry” as lolly’. What suggestions to be given to her to
improve her vocabulary ?

@ Ask her to take training with speech therapist
2. Ask her to purchase a audio mission
3. Send her to physiotherapy
4. Send her to psychotherapy

o8 BoBBBL0e SchdKe &8 ards &) SEswey SHpre
BHHHYB. ST 1 TEI T o, ‘@O ‘T o, WD EwE)
TPENETRNY) FBHHTDEE @) D BIRDHKY)

‘BB DR (B ) EE% Bdpes
PEDEREY 8 HoHoHe

(1) %5 300y 550 39 85 S0 Bgpe

2

3
4. ERBY & Hodothes
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41.

42.

CONTENT

A sum of money invested was compounded annually. The amount
of interest in two successive years are ¥ 2700, I 2880, then the rate
of interest is
5708 IwPXwP SoSBTIEEI0 S(ESE B@HH08. © L0
S $& Boh Boddyores® S T 2700, T 2880 wand $ET
0&?
1 6 1%
2
2. 6 1%
3
@ o
4 6 E%
4
The work done by (x-3) men in (2x+1) days and (2x+1) men in

(x+4) days is in the ratio 3 : 10, then the value of ‘X’ is

(X=3) H008 Hoen (2x+1) Sares® FDE H HHBK® (2x+1) LHod
DS (x+4) Seres® TS B AYPE 3: 10 e@ond X Dend

1 3

(2) s
3. 9
.
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43.

44,

A shop keeper offers a discount of 20% on all the items and makes a
profit of 12%, then the cost price of an article if its market price is
Rs.2800

2.8 aPHTD SSIEHY) o) SRPoP 20% Hvsw vt S
12% ergio SPowetd. @ond a8 H0P) e 2800 o @S T

©den Dend

1. 2504
2. 2352
3. 2240

2000

A train travelled from station A to B at a speed of 100 km/hr and
returned at a speed of 150 km/hr. Then the average speed of the train
§

&8 Beo QA A 08 B 8 Ko 100 8.8, SKo8® I9) 807
Koe® 150 8.8, SK08° achentidd Rae Bo0b. & Bwn Ho°dd
K5

1. 140
2. 130
3. 125

120
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45.

46.

The polynomial x® - 6x* + ax + b is exactly divisible by x* - 3x + 2
then the value of a and b are respectively
X° = 6X° +ax + b 250089 X* - 3X + 2 AFaEorr grRod,
a 08050 b Dendden HSIr
1. 11,6
@ 11,-6
3. -11,6
4, -11, -6
If o, B are the roots of the quadratic equation ax* + bx + ¢ = 0 then

. 1 1 .
the equation for whose roots are — and — is
(04

ax’ + bx + ¢ = 0 $830088em0 @) Sareres o, B o 1 %
a
Loerenre Ko HE8esn -

1. bx*+cx+a=0
@ cx*+bx+a =0
3. ox*-cx+a=0
4.  bx*-cx+a =0
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47. By increasing the speed of car by 10 km/h, the time of journey for a
distance of 72 km is reduced by 36 minutes, then the original speed
of the car is

72 8.8, ErYH0irerds a8 528 SR Kot 10 8.8, HoDIHE
DG srodm 36 il SHIH. Wond 52 Eend ot

1. 25km/h
(2) 30kmh
3. 45kmhh
4. 60 kmh

48. If (a, 0) (0, b) and (1, 1) are collinear then the value of 1+% IS

a
(@ 0) (0, b), (1, 1) Dotsripes $BHAsBS, 1+% Do
a
14
2. 3
3. 2

1

49.  Three vertices of a parallelogram are in order (a + b, a— D),
(2a + b, 2a-D), (a— b, a + b), then the fourth vertex is

28 DI 0e8S zﬁé}é@&zﬁn Qoo %Q@o&:’n:@w NBJ,
(a+h,a-h), (2a+b,2a-b), (a—b, a+b)ewand e 3G
1. (b b)
2. (b -h)
(G) o
4.

(-b, -b)
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50.

o1.

If ‘0’ lies in the first quadrant and 5 tan 6 = 4 then the value of

5sin@ —3cosf ic
sin@ +2coso

5sin@ —3cosf

5tan 0 = 4 5005 ‘0’ IS FrSSnst LoD —
sin@ + 2coso

Dend

5
a

The distance between the tops of two trees 20m and 28m high is
17m, then the horizontal distance between these two trees is
(in meters)

20 ., 28 . ke To By VdBe HggErssm 17 . @awd
TR Soggio HXrosB Srssn (eset)

1 9
11

2
@ 15
4,

31
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52.

53.

The angle of elevation of the sun when the length of shadow of a
pole is /3 times of the height of the pole is

a8 008550 PEHE ol Al \/é B, o0 HE D58 HoD)
‘(63%6)?350@35 Dodw \%agsgssao Qend

2. 45
3 60°
4 75°

A polyhedron has 7 faces and 10 vertices then the number of edges
of polyhedron is

2.8 exiugh® 7 Sogres, 10 dopeik 8OAGY) & ai0ghe wode
éoap?g

1. 7
2. 9
3. 10

15
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54.

55.

The radii of two cylinders are in the ratio 2 : 3 and their heights are
in the ratio of 5 : 3 then the ratio of their volumes is
Both {pare THFT 2 1 3 DHYBS', B dghen 51 3 IPAS®
Do) T8 Hod3HoSTere Y
1. 10: 17
2. 17 : 27
@ 20: 27
4. 20 : 37
Area of a sector of a circle having radius 36cm is 54 &t cm?, then the

length of the arc of the sector is

36 0.2, T Ko HEIS®D DED FeogEn 54 1 Ro.d’
LoNS & WEH THI0 D

1. T

2. 271

(3) an

4, 47
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56.

S7.

Two parallel sides of a trapezium are 40cm and 20cm. If its
non-parallel sides are both equal and each being 26¢cm, then the area
of the trapezium is
2.8 (BdHE%H0 $Eross ghHessn 40 0.8, 20 0.8, edsross
8Heednen o SIS nen HHdAsn &?é&éﬁ”) 26 0.8 wond,
s (Bhaecho SRS
1.  660cm’
2. 680cm’
@ 720 cm?
4.  840cm’
If AABC ~ ADEF and AB =2x -1, BC = 2x + 2, CA = 3x, DF = 6x,

DE = 18, EF = 3x + 9 then the ratio of their perimeters is

AABC ~ ADEF &08c50 AB =2x-1, BC =2x + 2, CA = 3X,
DF = 6x, DE =18, EF = 3x + 9 ®owd & (8ghessdoe zﬁaag?oéo
%8

@ 1:2
2.
3.
4.

g AN
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58. If the number of observations in the data ‘n’ is even then their
median is

th th
1. average of 2 and (nT—lj observations

th th
@ average of 2 and (gﬂj observations

th
n .
3. average of > and (n +1)th observations

th th
4. average of 2 and (nTHj observations
‘N’ H88eden ‘é@éoao?gészéaé& 8 306351850
n-1
j:é HBBebe Hifew

2@5 5680850 B

n+1)z§ $080de Hisew

NS NS NS NS
&
TN T TN N

jzé H08de HKken
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59.

60.

Cl

135-140

140-145

145-150

150-155

155-160

160-165

Frequency

4

X

15

11

y

5

The median of the above data is 148 and total frequency is 50 then
the values of x and y are

2 Dende SeiHSm 148 By FPSidHgEne Swgo 50 e@onsd

X, Y Qenden

1. x=3,y=12
@ x=12,y=3
3. X=9,y=6
4. x=51y=10

Two dice are rolled simultaneously, then the probability of getting a
multiple of 2 on one die and multiple of 3 on other die is

Both ‘Bew 280 Sabarrow. wand Bok EnE) MHlesn a8
T &, 3 DY) HBusn BorS T D SEH Ko Hogrgd

T
4
2 2
18
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61. From a deck of well shuffled 52 cards, all the face cards are
removed. One card is randomly drawn from the remaining pack of
cards. Then the probability of that card is a black card is

52 PO 8O3 6 DEI0He JEwmeaho Lo Fio seden
&R Sethen) 363303)33632013. ADS 9@@@38 5008 28 5o
Qetgyinsone BBIHK ©b S 58 ©dy Sogrgs.

L
20
L
40
® 3
2
.2
13

62.  The decimal expansion of % will terminate after

1. 1 decimal place
2. 2 decimal places
3. 3 decimal places
4 decimal places
% B 85008 ErHod® (T8 0b 8l FTre SHTE HorHryod

0B S30d égzézﬁw
Bo& B3°0d c?gme»
Kooy BP0 égmen

1.
2.
3.
TP BB°0E ﬁgww
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63.

64.

If aand B are zeroes of P(x) = 2x* — x — 6 then the value of

at+ptis

P(X) = 2X° =X -6 8% o, P Denden Erargoond o '+ B dend

N |-

s 1
6
Iogz3\/§+1 ]
The value of 16 4 s
I09123x/§+1
16 4 Dend
1. 81
2. 162
3. 324

648
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65. If S={x/xis a positive multiples of 3 less than 100}
P = {x/x is a prime number less than 20}
then n(S) + n(P) is

S ={X/X @38 100 88 5SS 3 DY) FIrF)E oedessinen}
P = {X/X @036 20 88) 538 &8 (Herddong}
wond N(S) +n(P) =

1. 34
2. 38
® «
4. 43
66. If ﬂ=a+7\@ then the value of a — b is
V7-43
5+\/§ =a+7\/6 ®ond a—b Dend
7-443
1 13
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67. If 2% = 4! and 3% =27"*? then the value of x+y is

252 = A7 S0k 3P =27 wand Xty Dend

1. -1
2. 1
@ 25
4. 25

68.  The solution of e* Tany dx + (1 —e") sec’ydy=0is

e Tany dx + (1 - €) sec’y dy = 0 & FHos $:5) Densd

Tany = c (1+&")

1.
@ Tany =c (1-€)
3.  Tany=c (1-€")’
4,

Cosy =e (1-€")

69.  The solution of x % =y +xe'*is
X

X % =y + xe’ FHose Sy Dend
X

1 Xefy/x :E
y

—y/x
2. x% =c

—y/x
@ xet =¢

e—y/x

4. ye* =c
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70. The mean deviation of 10, 9, 21, 16, 24 is
10,9, 21, 16, 24 dende $o551E Dsed580
5

5.4
5.1

1.

2.

3.
5.2
71. The arithmetic mean of 5 numbers is 27. If one of the number be

excluded, their mean is 25. The excluded number is

27 éospé@ @oééacﬁ?gzéaséaa 5. Q88008 a8 éospééa EoA0DD
0800I 25 erho. e SPoNodNdES Logy

28
26
25

1.

2.

3.
.
72.  The variance of 350, 361, 370, 373, 376, 379, 385, 387, 394, 395 is

350, 361, 370, 373, 376, 379, 385, 387, 394, 395 Sogge I &

1. 183

@ 183.2
3. 1822
4. 185
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73.

74.

Five digit numbers can be formed from the digits 0, 2, 3, 4, 5. One
number is selected at random. The probability that it is divisible by 5
5

0,2,3,4,5 w0808’ a8 oo Loz QBYGob. FBSEL08
dﬁ)ﬁdﬁaé’béom &é‘éoa)?g DONETCHE0H. AN e éosp?g 53
PPRO0DNVLIE K ‘éoamé?gé

® 5
16

2 L
16
3. L
26
4, L
26

At a selection, the probability of selection of ‘A’ is é and that of ‘B’
§ % The probability that both of them would not be selected is
5 DoBES® A’ 6 b JobE Sogrigs <, ‘B’ SoarE .
©ond & BodE NoETeHBoT &od DogrRgs
. 5
35
2. 2
35
O
35
s, B

35
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75. If a binomial distribution has a mean 15 and variance 10, then n =

2.8 DS D (ﬁDé& Qdsen 15, 8)@@ 10 ®ond n=

1. 20
2. 15
3. 35

45

76. Iff: R—>R is defined by f(x) = 2x + |x| then f (3x) — f (—=x) —4x

f:R—>R & f(x) =2x + [x| e JdgDoseadS f(3X) — f(-x) —4x

1. fX)
2. —f(x)
3

f(=x)

2f(x)

77.  Iff: R—R s defined by f(x) =m for each xeR, then the

range of f is

f:R->R & f(x) :ﬁm DED0TDES, XeR ©ond T8
—€0S 3X
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1.  AB=-BA=-
2. A=B’=C=1
(3) A=B*=c’=-
4.  A*=B*=C*=0

79.  The system of equations 3x —y + 4z = 3, x + 2y -3z = -2,
6x + 5y + Az = -3 have atleast one solution in common when

D BBere SHoesesn X -y +4z2=3, X+ 2y -3z =-2,
6X + 5y + Az = -3 0B 8O%0 ;&S 288 éoéﬁé@éé&, A Qend

® 1
2. A=3
3. A=5
4, A=06
Kl_jL:j (1 - | =a+ibthen a and b are
[ﬂj —(— =a+ib ®ond a Hdas» b en
i 1+|

1,1
2,2
0,-1

1
2
3.

0, -2
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81. If x=cisoc, y =cis then x"y" + ml =
X

n

X=Cisoc, Y = Cis f @and x"y"+ ml o=
Xy
@ 2cos(moc +np)
2. 2cos(moc —np)
3. 2sin(moc +np)
4 2sin(moc —np)

82. If one root of Px?—14x + 8 = 0 is six times the other then P =

PX° - 14x + 8 = 0 Go¥) &8 Suresn BoiSweAETY) 6 Bégons P =
1. 1
2. 2
®
4. 6

83.  The maximum value of 10x — 5x* — 1 is

10x — 5X* — 1 Go¥) o568 Densd

1. -1
2. -1/5
3.
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84.

85.

The condition that the roots of x> + 3px® + 3gqx + r = 0 may be in
AP.is

x>+ 3px° + 30X + 1 = 0 Bw) Sreren @oSBESE sothHe® Ko
Q00

@ 2p° + r =3pq
2 p3r — q3
3.  29°+r®=3pgr
4

None

Find the number of different ways of preparing a garland using 7
distinct red roses and 4 distinct yellow roses such that no two yellow
roses come together

7 DG BBorH Herden, 4 VG 5oHBord Herdods e
D Bot H0HBorH Keeden DEYSHE TPADF e QB
Jrooton e‘éoﬁr&éoﬁaézﬁ%

1L (6)(7R,)

@ 6!x 7P,
2

7P,
2

4. 51 7P,
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Find the number of 7 — digit numbers that can be formed using
2,2,2,3,3,4,4

2,2,2,3,3,4,4 90800 artHdr ) 7-w080 éospéozéa
éoﬁp&ﬁoﬁaézﬁg}

. I
21
|
5 It
3121
|
N 6!
312121

3! ;!!2!

If (1+x+ X2+ %) =bg + b + bx? + ... +byx? then
b1+b3+b5+ +b21:

(L+x+X2+x°) =bg+ bix + bX* + ... + byx* ewowd

b1+b3+b5+...+b21:

1.
2.

@ 213
4,
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88.

89.

If the co-efficients of 4 consecutive terms in the expression of
a |, &

(L+x)" are aj, a, as, as respectively then =
a+a, a;+a,

(1 +x)" &g DBeas® 4 38 Hore Heaseen BB
& &

+ =
a+a, &+,

ali a21 a31 a4 @O*D;éa

® 7
a, T8

2. %
a, +2,

3 3,
a, + a

4 2
a, +2,

If (2, 1) (4, 3) (2, 5) are the three consecutive vertices of a square

then the area of the square is

(2,1) (4,3) (-2, 5) e a8 SHBERD Kt S0 BEHoLHHNS

& JEIER S50

@ 16 sqg.units

2 78 sg.units
3. 24 sg.units
4 36 sq.units
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90.  The equation of the line passing through (2, 0) and having intercepts
whose ratio m: nis

(2,0) ooz &, oK Dothden M: N YA Ko
B JEBeasn

1. nx+my=m
@ nx + my =2n
3. nxX+my=n
4,

nx + my =2m

91.  If the acute angle between the lines 2x + 3y -5=0,5x + Ky-6=0

is ~ then K=
4

2x+3y-5=0,5x + Ky—6=0 Spe @)@oﬁsmm % oond K =

92.  The equation to the pair of lines passing through the origin and
perpendicular to 3x* — 5xy + 2y* = 0 is

e Dotodihome S8Em, 3x° — 5y + 2y° = 0% wopore Ko
J8¥Tpe 2385 Do SQeEBe0

1.  2x*-5xy+3y*=0
2. 2¢+5xy-3y°=0
@ 2x° +5xy +3y* =0
4. 2 -5xy-3y*=0
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93. x*—6x+8=0,y* -5y +6=0are the four sides of a

Square

1.

@ Rectangle
3.
4,

Rhombus
Triangle
X —6x+8=0,y" -5y +6=0 Speo BITNE), TeeorDH ghewen

1 SE8HEm

@ B 5805550
3. oo

4.

(&ghessdo

94.  The area of the triangle formed by the tangent of P (x4, y;) to the
circle x? + y? = a? with the coordinate axes where x;y; # 0 is

Xiy1 #0 @ow, X° +y° = a’ 5Finp &) Hoed P (X, Y1) 38
@65,33&), (‘Odﬁa‘@fe}é&" 3360)653 (Bbes STeegsm

1 _a
2%,y
2 a’
%,V
4
3. 2
%,V
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95.  The pair of circles x* + y* — 4x — 6y — 12 = 0 and
X +y*+ 6x + 18y + 26 = 0 are
@ Touch each other
2. Intersecting circles
3. Concentric circles
4.

Non intersecting circles

X*+y?—4x—-6y—12=10, x> +y*+ 6x + 18y + 26 = 0 en 3o

2208 HTLOAWS ©)

@ 2 ETITES TEEP Sokran
2. 2. B8PAIES oo HEotran
3. B0 Hzoen
4,

©pold Jzen

96.  The equation of the circle passing through the points of intersection
of the circles x* + y*— 8x — 6y + 21 =0, X* + y* - 2x — 15 = 0 and
1,2)is
X2+ Yy —8x— 6y + 21 =0, X +y* - 2x — 15 = 0 H)zre ot Howod
8% (1, 2) rhowe Y HE D&ESeaw

1. xX2+y?—18x-12y +27=0
@ x> +y*—6x—4y+9=0
3. X*+y*+6x+4y-9=0
4,

X2+y2:6
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97.  The value of K, if the line 2y = 5x + K is a tangent to the Parabola
2 "
y° = 6xIs

Y’ = BX H8S0chEnds 2y = 5x + K éo)égégp ond K dend

98.  The eccentricity of the ellipse 9x* + 16y — 36x + 32y — 92 = 0 is

Ox® + 16y° — 36x + 32y — 92 = 0 &BHFEwISH eBoEd

L
2
2 V7
8
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99. Ifthe d.r’s of two lines are (1, -2, 1) and (-1, 1, 0) then the angle
between them is

(1,-2,1), (-1,1,0) &8Soggeorr Ko 3&)@263&,65 &¥easdm

1. 0
@ 30°
3. 60°
4. 90°

100. The intercepts of the plane 3x + 4y — 6z + 15 =0 are

3Xx+4y -6z +15=0 oo GwE) »oisd Dothsyen

8,6,4
8,6, 4

1.

2.
@) B8
4 2

4,

101. Sin 120° cos 150° —cos 240° sin 330° =

o (O -
|
H
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102.  cos* @ + cos®(60+0)+cos” (60—0) =

©
2
2 1
2
3. 3
8
4. L
4

COS2A + cos2B+cos2C-1

103. If A+ B + C =180° then - - -
sin Asin BsinC

A+B+C=180° ®ond Cos2A + CO-SZEH-COSZC—]. e
sinAsinBsinC

1.
@
3.
4.

= w B~

104. Tan’11 + Tan’ll + Tan’li + Tan’11 =
3 5 7 8

=
a

N
N

4>|§° I
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105. If the sides of a triangle are 7, 4v/3, v/13 then the smallest angle is

7, 443, /13 (@gbes gherBi, (@gbessin Bwd) DEesn Deod

@ 30°

2. 450
3. op°
4. 120°
106. Ina AABC,~+14+1_
rl rZ r3
AABC 0t L4+t 1.
rl rZ r3
1. A
S
@
r
3. 2
r
4. 3
r
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107. If the position vectors of A, B are 2a—3b, 3a+2b respectively then
the position vector of C in AB produced such that AC = 2ABis

A, B o S $bFen SERm 2a-3b, 3a+2b wond AB F&AHD
AC = 2AB ebdey C S $6%.....

1.  3a+2b
2. 3b-2a
@ 4a+7b
4. 5b—2a

108. If a+b+c =0 and ‘5‘ =3, ‘5‘ =4, ‘E‘ = /37 the angle between a and

bis

a+b+c=0 B \5\:3, \5\:4, \E\ = 37 @owd a Hbcs b

253(‘5?3558@&3
1. =
4
2 K2
' 2
3 K2
' 6

@ 3
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109. IfA(L, 2, 3),B (2 3,1), C (3,1, 2) then the length of the altitude
through C is

A(1,2,3),B(23,1),C (3, 1,2) ®ond C oz 889 oo &

3
33
32

® &

w noe

110. The volume of the tetrahedron formed by (1, 2, 3) (4, 3, 2) (5, 2, 7)
(6,4,8)is

(1,2,3) (4,3,2) (5,2, 7) (6, 4, 8) 03 D)o S8 $505508me0m

22
3

E
3
3. 1
3
16
3
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111, Lt a+2Xx —/3x
x>a 33+ X — 2\&
2
1. —
J3
1
2. -
NE)
2

3

~ ®
L8

NG

112. Ifxy (x +y) = 2 then % =
X

Xy (X +Y) =2 eond g _
dx

2 y+2X
X+2y
3 X —aZ
ax-—y
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g _

113. Ifx=acos'0, y = b sin"0 then ;
X

X =aco0s'0,y=bsin'e eond % _
X

1 b
a
2. P
a
@ _—bTanze
a
4 _—bTan30
a

114. A circular plate expands when heated from a radius of 5 cm to
5.06 cm. The percentage of increase in area is
a8 HEeEEH HPKwH IATaore o THEED 5 0.8 0
5.06 20.80 2BAKH. wowd HB)w FTregn dHEL -

(1) 24

2 0.75
3. 0.4
4 2.8
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115. The length of the tangent of the curve y* = 5 X

3

X A
y? = ax SE03S (a, a) :écg cooyéﬁsp PED
1 5a
2 2|a)
®
2
PR
2

116. The maximum value of 2x° — 3x* — 36x + 10 is
2x° - 3x° — 36X + 10 B, K0 D

1. 64

2. 52

3. 80

(a) 54

sin(x—a)

117, [ dx=
sin x
@ xcosa—sinalog |sin x| +c
2. —xcosa—sinalog|sin x|+ ¢
3. xcosa-+sina.loglsin x| +c¢

4. —xcosa +tana.loglsin x|+ ¢

at(a,a)is
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118. j

®

2.

T

e’ (1+xlog x)

X
e*log x+c
—e*logx+c

1
“=—+cC
X

e

X

e +C

x dx

119. j

0

a’cos? x+b%sin®x

120. The area between the curve y = 1 — | x | and x-axis is

y=1-]x|SE50 00k X-egkn oy Seeegsn

1.

©

Wik AP, P e
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Methodology

121. “Mathematics is the science that draws necessary conclusions” —
This definition is given by

1. Albert Einstein

@ Benjamin Pierce
3. Carl Friedrich Gauss
4. David Hilbert

“HBS (0 008 sHEES HBHFTDH 80T Degpdo” - o
NeISAlOTANEV oV

@@QQ 605%2\35

1.
@ BoBHOS §35Q
3. 506 DRE R
4.

rabala) 35°®3)§
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122. *“If a particular property holds good in a sufficient number of cases,
we can conclude that it will also hold good in all similar cases” —
This relates to

1. Logical reasoning

2. Deductive reasoning
@ Inductive reasoning

4. Correlative reasoning

“B8 DRASTRY WIEY) HB8DoAIHK &8 HOER) FodB,
e9¢nH0d ifer K)ocﬁcgboés Erme 08 HIB°R) FPokE°Hd
ATBead> T°HKE0” BRI

1. =08 Te&Had0

2. QKL0S o
@ L0 TRETE0
4,

B55PK08008 B0

123. The following Mathematician is honoured as “Father of Geometry
@ Euclid
2. Pythagoras
3. Gauss
4. Ramanujan

“PEE ©F DB’ m TEL0 Fobd KBS KRS

(1) aogs

2
3. (1)
4
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124. The following number is popular as “Ramanujan number”

Bod TRS® oS Domg (BREIHG

1. 1792
2. 1927
3. 1279

1729

125. Bhaskaracharya mentioned about “Mensuration” in this part of his
book Siddhanth Siromani”

1. Grahaganit
2. Bija Ganitha

3. Goladhyaya

Lilavati

TRy EF “Vrpod BB 0B (Koo H505O & gritos® “Breden’
HB0D (DIDoweE

e Kdso
Des KBS0
RPeegrgado

1
2.
3,

Ders® KBSo
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126. *“Mathematics is the gateway and key of all the sciences” stated by

1. Young
2. Leibnitz
3. Hegban

Bacon

‘Do T[T Sreo, B0 erodd KBBE0” - 0 HEYIITH
1. o%oh
2. S
3. TS

)

127. The highest level of objective in Cognitive domain is

@ Evaluation

2. Analysis
3. Characterisation
4,

Naturalisation

aa;@éé&ééoﬁo Nelatd) @ééa?gzé&e‘é e:égo

(1) ooty

2
3.  oEdEemo
4
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128. “Types of Triangles” can be shown easily and effectively by using
1 Bulletin Board
Flannel Board

2.
@ Geo Board
4.

Notice Board

(Bod 68BN HITAN0D “(Bgheren - Bseen” K owgiorr,
SEHMT (HBB)0BHW)

20OBS 23563
RS &%)

1.
2.

@ 2@ &%
4. & &G

129. The lowest level objective in the Hierarchical order of objectives in
the Affective domain is

1. Imitation
@ Receiving

3. Characterisation

4. Responding

graradsono $osd 05RO ©B(ESBES NEVIDIEI N

1. 08B0
(2) wtrosio

3.  oEdESemo

4. @@é&o&oiﬁdo
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130. The specification “The learner is able to classify the given numbers
into prime and composite numbers” belongs to this objective

1.
©
3.
4.

Knowledge
Understanding
Application
Skill

“@a,??gééac‘f,o SIS éogpéexéa (S éoap?ge»m, doacsnd E()oepsenm
ééé@oiﬁﬁoéo” - éo)%éésazﬁn &3 ezgggaéwééa S\ I AN

1.
3.
4.

2PRXW

=y
PP
AT 950
SIeagesn

131. *“Organisation and Recitation” are the last two steps of this approach

R ON

Blooms approach
Morrison’s approach
R.C.E.M approach

Herbartian approach

“aé?gzé%éésa, SDIADHE0” @B & SHPTPHoBO DHO Bokd
RbTeeen

1.
3.
4.

2P) ST
FrBRS SoTome
©98.2.9. D0, Sdareae
2PoNBANS S
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132. “The learner is able to predict the picture formed by cutting the halo
cylinder vertically” - This specification belongs to the following

objective
1. Skill
2. Understanding

3.

Knowledge

Application

“@grEiw ) SRS VenHe EGB0DD DD BerY) (BerHS
Dahrow” - 8d & OEFENEH BodS KRS

1.
2.
3.

SIeagesn
PP
EONEVWY

=y
QAT 950

133. “The pupil is able to calculate one side of right angled triangle
rapidly and accurately when the other two sides are given” — this
comes under

1.
2.

®

4.

Manipulative skill
Drawing skill
Computational skill

Skill of Reading the tables

“egRsitHis ooatin (Bghuos® Bok fhere Soden ad)d 3%
ey SKsore, EMBorr KeBolrie” - ods SsGod Sdeago

1.
2.
4.

SPRVees® J)eagam
DSBS Jadeagasn

Kead SeYeagadn

DB BE0H Jeagsn


wintech
Oval

wintech
Oval

wintech
Oval

wintech
Oval


134. “Place Values” can be taught easily by using this material in Maths
Kit.

1. Fractional Disc
Cuisenaire Strips

@ Abacus

Napier strips

KBS DAE 5089 & A SHRrA0D “é"é&)wéw” foWateta)
Doedforr SPB0SKeEM.

1. P H(eosm
2. éyg?\ﬁoaag a”aééepa

@ e B0

4. JDcHs HGen

135. If the entire concepts of “Exponents and Powers are taught only in
class 8" — this type of curriculum organisation method is

1. Concentric method
2. Spiral method

@ Topical method

4. Logical, Psychological method

“YrEren - HrErosten” & Ho@ofodS W) FrHden 8% S8KSSTI
O SH0HIeN0E E&Kw0 DBTeEs 2GS

8 _sso@ﬁé 5’3&3@
é@o)o écgé’é

1.
2.

(3) oz sye
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136. One of the following create more concrete experience than “Field
Trips” in the Edgar Dale’s cone of experience

1. Exhibits
2. Movies
3. Visual Symbols

Dramatical Experiences
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137. One of the following is not a principle of curriculum construction

1. Principle of Disciplinary Value
2. Principle of Child Centeredness
3. Flexibility

Principle of Logical order
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138. The following instrument does not belongs to Mathematical
instruments box.

1. Divider

2. Compass
@ Tape

4. Protractor
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139. “The topics in Statistics are divided in 8", 9" and 10" classes on the
basis of complexity” — this belongs to this method of syllabus
organisation

1. Topical Method
@ Concentric Method
3. Logical Method

4. Correlation Method
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140. The following is not a reason for backwardness of the students in
Mathematics

Uninterest in Maths

1.

@ Attending to classes regularly
3. Memory related problems

4,

Physical disabilities
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141. Least number of points are given to this criteria in Hunter’s score
card for evaluation of text book.

1. Content
2. Style of Language
3. Exercises given in the book

The way it is to useful to the teacher
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142.  One of the following is a merit of drill

1.
2.
3.

Mechanical reproduction of concepts
Rote memorization of principles
Monotonous work

Helps in remedial teaching
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143. One of the Demerits of Inductive Method is

1

®

A logical method
Encourages active participation of students in learning
A laborious method

Facilitates meaningful learning
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144, An important characteristic feature of “Synthesis Method” is
@ Proceeds from hypothesis to conclusion
2. Proceeds from abstract to concrete
3. Proceeds from example to principle
4. Proceeds from specific to general
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(1)  smodo H08 Frodoss Aot
2. X080 Dol rdERds
3. &TeseSes 508 @8 Fohiso
4. BEgsrodo o0& FeBerodeld

145.  One of the following is a merit of Analytic Method
A lengthy method
A logical method

May not be applicable to all topics equally well

o @ -

Difficult to develop speed
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146. The best suitable method to “prove that the volume of a cone is

1 . . . . .
gnrzh" using different cones with different measurements in the

class room.

1. Synthetic method

2. Project method

3. Problem solving method

Laboratory method

BBKBKOSE DG Soden Ko “GognHed® 0888 ™easn

%ﬂrzh” o DEPR0HOH OHIS 8D SPTHES

1.
2.
3.

ex

éof.ﬁéea gé’a

DEeye o“atgé’é

e HOIS D58
BErSTe D58

147. *“Organisation of Fairs” comes under this type of project

1.
©

3.

4.

The produce type project
The consumer type project
The problem type project

The drill type project
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148. This is not an important characteristic feature of Heuristic Method
1. Concrete experiences to abstract thinkings
@ To find the items from unknown to known
3. Learning by doing
4. Direct purposeful experiences
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149. The second step in a “Herbartian lesson planning stages” is
1. Association
2. Generalisation
3. Application

Presentation
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150. The highest level of experience as per Edgar Dale’s Cone of
Experiences is

@ Direct purposeful experiences
2. Dramatical experiences
3. Field Tripes
4. Visual Symbols
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151. One of the disadvantages of oral work
1. Helps the students to be alert and attentive in the class.
2. Enhances the power of concentration of the students.
@ Mostly depends on the memory of the students.

4. Easy to test the previous knowledge of the students.
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152. The specific strengths and weakness in learning of a child or whole

class can be found by this Evaluation

Formative Evaluation

1.
@ Diagnostic Evaluation
3. Summative Evaluation
4.

Prognostic Evaluation
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153. The Academic standard that can be tested through the test item

“Show that \/§+ 3 isirrational”

1 Communication
Representation — Visualisation

2.
@ Reasoning and proof
4,

Connection
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154. The Academic Standard to be tested through the following test item
“Write 303.03 in expanded form”.

1.
2.
3.

Reasoning — Proof
Connection
Representation — Visualisation

Communication
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155. The following aspect is limited to only one concept

1.
®
3.
4.

Assignments
Do these
Think and Discuss

Try these
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156. This is not a characteristic features of the objectives
1. should be attainable
2 should be clear and precise
@ should be written as incomplete sentences
4 should be observable and measurable
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157. The following question is this type of question
“Circle : nr” : : Square : ”

1. Association form

2. Classification form

Master list form

‘ Analogy form
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158. One of the following Mathematics educational value is in the Black
Horst classification

@ Attitudes

2. Skills
3. Abilities
4, Habits
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159. This educational value of Mathematics does not belong to “Breslich
Classification”

1. Information
2. Abilities

@ Appreciation
4, Concepts
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160. One of the following is not a characteristic feature of a good
Evaluation tool

should be comprehensive

1.

@ should have subjectivity
3. should have validity

4,

should have reliability
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